RvZ€ UPPER BAG SADDLE & TUBES w10

STRAP ARM BOLT SET
B1C-08 -FWM548

UMBRELLA VELCO
06—C08-VELCO-002

M5 X 34MM CSK BOLT

06-M35-M5X34KM
SCREW ST4X14

B1C-33X-FWST04

M6 X 37mm BOLT
06-M26-M6X37PM

HANDLE PIVOT (LEFT)

HANDLE HOLDER SPRING
P1C-12H-UBPAFG

M1C-10H-UBASSM

HANDLE PIVOT SHAFT
B1C-21X-UB10XX

STRAP ARM BOLT SET

B1C-08 —-FWM548 SCREW M4X26 SET

B1C-22X-UBM426

M5 X 34MM CSK BOLT
06-M35-M5X34KM

MID-TUBE LEFT
T1C-02W-UB25XX

HANDLE PIVOT (RIGHT)
P1C-52H-UBPAFG

BAG SADDLE UPPER
P1C-29H-UBPAFG

HANDLE LOCK LEVER
P1C-18R-UBPAFG

MID-TUBE RIGHT
T1C-03W-UB25XX

ST3.0 X10mm PA SCREW
06-M39-ST3X8PA

HANDLE GUARD (LEFT)
06-P49-C010-00




